Before strating:

1+ You need these tools:
tweezers, long nose pliers, side cutter. PHO/PH1 cross screwdriver., 1.5mm&2.5mm hex wrench . double side

tape. scissors. sandpaper.

2, Finished painting before assembling (before painting, you should remove burrs and clean the ABS patrs) .

— . ML€§£15 26 )
- s~~~ NUL— MI. -
M2x6 Hex (black B ~M1L5%5 M2XE

nut—-Ml1.5

. MLBXS
o nut- M5

nut- M2~
M2x6 Hex (black)
nut-M2

-
ML5X5 |

ML5X5

Do not overtighten
these 1.5 screws, damage
may occur to the body.

M2 X8
e o
"1;5%%ut—M2 nut—M2

ek _M2x8
st ff/ nat-Me  Mes8

/
[ S—
7

VU Lomm twist dill
S depth of 4mm

Use 502 glue

to bond the
exhaust pipe

Fix a magnet
here to attach
the “key”

This hex wrench is
used as a key to
open the door and
the hood .

This magnhet is not
\;lnclude. P,

1/7



